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1)
|classes|[80 - 95[|[95 - 110[|[110 - 125[|[125 - 140[|[140 - 155]|

|effectifs|n{tex}_1{/tex}|6|n{tex}_3{/tex}|n{tex}_4{/tex}|n {tex}_5{/tex}|

n{tex} 2{/tex} = 6 effectif total = N

n{tex} 2{/tex} = 12% N donc {tex}frac{N}{100}times12=6{/tex} d'ou
{tex}N=frac{100times6}{12}=50{/tex}

2)
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{tex}alpha_i{/tex} = I'angle de la {tex}i*{ieme}{/tex} classe.

{tex}frac{alpha_i}{360}=frac{n_i}{N}{/tex}

donc {tex}frac{n_3}{50}=frac{36}{360} Longleftrightarrow n_3=frac{50 times 36}{360}=5{/tex}

3)

{tex}f_4=frac{n_4}{N}{/tex}

{tex}frac{n_4}{50}=0,3 Longrightarrow{/tex} {tex}n_4 = 50 times 0,3 = 15{/tex}

4)
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{tex}n_2 = 6{/tex} {tex}n_3 = 5{/tex} {tex}n_4 = 15{/tex} {tex}n_1 = x{/tex} {tex}n_5 =
frac{1}{3}x{/tex}

donc x + 6 + 5 + 15 + {tex}frac{1}{3}x{/tex} = 50

{tex}frac{4}{3}x + 26 = 50 Longrightarrow frac{4}{3}x = 24 Longrightarrow x = frac{3}{4} times 24
Longrightarrow x = 18{/tex}

donc {tex}n_5=frac{1}{3}times18=6{/tex}

3)

|Classes|[80 - 95[|[95 - 110[|[110 - 125[|[125 - 140[|[140 - 155]]
|Effectifs|18|6|5|15|6|
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|Effectifs cumulés croissants|18|24|29|44|50|

{tex}frac{N}{2}=25{/tex}

or

24

174



